BTl - AO—% ( FER245E4R818 BRE)

o i BN BN | &N

87,473 204,700 101,184 103,516

X 2 S i B (A BN | =)
F—HX KFH—TH 221 464 225 239
F—HX AXFHZTH 221 402 211 191
F—HX XFH=TH 125 230 121 109
E—HX AFRIETH 143 283 128 155
F—HX XFHATH 123 255 126 129
FE—HX A= H O BT 38 85 42 43
FE—X =) 48 115 59 56
FE—HX ¥ N=Fiidi) 137 260 125 135
FE—HX = $RHET 146 312 159 153
FE—HX R ILHT 295 719 345 374
FE—HX {tHET 26 58 25 33
FE—ih X % FHHET 87 195 91 104
FE—ih X T 82 186 91 95
FE—ih X A AR ET 6 11 4 7
FE—ih X FRHT 10 27 13 14
F—itX T 4 10 6 4
FE—ih X AR BT 180 308 141 167
FHR ST 206 414 197 217
FHR el 118 254 129 125
FHR AR F{hET 4 11 5 6
FHR A% ET 24 50 23 27
F—HRE AR HET 10 32 16 16
FHR A ST 235 483 223 260
FHX 7 3, FRT 111 283 138 145




F—HX i) 68 143 67 76
FE—HX HFHT 8 11 4 7
F—HX J\IRHT 165 319 155 164
F-Hx Z<Hy 56 99 50 49
FE—iX TAHET 39 78 37 41
F—HX KPHET 34 89 41 48
FE—iX ERpHET 440 921 442 479
F—HX HT 75 BT 128 257 128 129
E—HX R ERHET 23 53 24 29

F—HXE 3,561 7,417 3,591 3,826

XA S i B (A) BEN) | &)

FEHX L) 191 428 228 200
FEMX A= T/NERET 94 197 97 100
X AFEHT 82 198 100 98
X LBl 335 733 336 397
FEHX d=1i) 69 158 83 75
FE X SR HET 66 190 94 96
FE X FEHRET 87 212 101 111
FE X A7 T A JRET 77 186 92 94
FE X AFTAREHHA 90 189 92 97
FE X T Al IR ET 511 1147 554 593
FE X AFT—TH 147 322 145 177
FHRX AFHTH 41 88 47 41
FIWMR AFFAREBH 119 248 114 134
FHRX XFFER 72 157 73 84
FHRX XFFER 74 167 89 78
FHRX FARE ARET 61 123 55 68
FIWMR H#RET—TH 85 204 97 107
FIWR H=HRET"TH 41 97 47 50




EHX HEBET=TH 120 284 130 154
X AT 133 310 142 168
FEX ABERT 69 162 78 84
FEoMX AFITLERHE 80 189 91 98
EHX WTHT 18 44 24 20
FEoHX FHFH—TH 92 193 83 110
FEoHX FAZET=TH 40 78 34 44
FEoHX FEBET=TH 67 129 64 65
FEoHX F A AT 82 189 100 89
FEoHX FATEHT 83 170 86 84
FEMX FATGHET 106 239 120 119
FEMX F AT 61 171 78 93

FE X E 3,193 7,202 3,474 3,728

XA S T B (A) BEN) | &)

FE=HR B A EFIEHT 194 479 236 243
FE=HR BEAESHH 1 4 2 2
FEoR TERER 157 383 186 197
FEoR TEREHAR 235 521 270 251
FEoR THEEXA 95 239 118 121
FEoR B A EFRFTHT 141 353 175 178
FEoR TEHEE4E 349 834 407 427
FEoR TERIWEH 32 81 39 42
FEWR BAETI 172 435 216 219
B BEAEMESF 236 574 286 288
FEWR FEAE 101 334 160 174
FEWR TERA/E 414 1,075 519 556
FEWR TEEWA 79 165 79 86
B TERMEE 92 135 49 86
FEHX TERES 173 405 212 193




FE=HX TERAIR 134 308 144 164
FE=HX TEREH 207 523 270 253
FE=HX TEEEKRX 180 436 214 222
FE=HX TERELET 179 354 162 192
FE=HX TEETETF 360 837 411 426
FE=HX EARXTER 5 15 8 7
FE=HX TEENR 62 146 70 76
FE=HX A E £ RHET 74 176 88 88
FE=HX TERER 381 941 457 484
FE=HX TERIZH 189 443 214 229
FE=HR TEEXRAR 270 675 305 370
FE=HR TEEHR 190 444 215 229
FE=HR TEHEEHAK 194 456 224 232
FE=HR TEERS 348 796 388 408
FE=HR TEEEH 135 278 142 136
FE=HR TEEE/R 146 342 160 182
FEoR T&HHRKGH 12 29 14 15
E=HR A ERET 101 258 121 137
FEoR BEAEERESR 36 71 36 35
=R BAEERA 11 31 14 17
=X $ A B FRET 111 268 124 144
FEoR B A ERHET 164 441 215 226
FEWR B AE— AT 140 365 175 190
FEWR TERER 191 435 203 232
FEWR TERtE 87 228 120 108
FEWR TERW/T 240 619 316 303
FEWR TERIA 244 537 277 260
FEWR TEES/O 180 423 206 217
B TEREHR 415 1,031 517 514




FE=HX TERER 46 97 46 51
FE=HX TERE/N\E 445 1,086 538 548
FE=HX TEE/NER 5 10 6 4
FE=HX TEEER 460 1,103 515 588
FE=HX TEEAR 8 16 7 9

E=HXE 8,421 20,235 9,876 10,359

X 2 S i B (A BN | =)

X T35 T 331 675 324 351
Fmx EEEXR 1 3 1 2
X LERMXIE 17 38 20 18
it X LERERRA 3 7 3 4
i X LEERER 6 11 5 6
i X LtERERSR 2 4 2 2
FEmiX R HRET 55 131 61 70
FEmiX 7 ST 606 1,383 664 719
i X {FEHHET 233 554 274 280
i X = BT 504 1,173 583 590
i X ETHT 218 496 254 242
i X rh AR ET 374 784 381 403
i X rh [ ET 79 182 93 89
i X EER=Rit 208 572 291 281
SEPa X £ & R AIBET 8 11 6 5
Fmix EEEZ )8 136 304 154 150
Fmix LEERERET 203 454 214 240
Fmix EERWFR 10 23 13 10
Fmix LEREEH 107 240 114 126
X tER—/RA 3 8 4 4
Fmix +tERE=/R 6 12 6 6
Fmix EEREA+AR 22 57 27 30




SEPm it X LERKEA 4 6 2 4
Fmix EEREFHIL 4 5 2 3
FEmih X 1L+ T BT 15 36 20 16
Fmix tERNE 21 51 22 29
SEPm i X LEHESIL 4 4 2 2
X 2SR HET 700 1,638 755 883
Fmx FER=EH 25 60 29 31
X R AN ET 324 747 358 389
X £ &R A JBET 13 31 15 16
X fi)s=HT 464 1,052 495 557
i X = HHT 957 1,958 927 1,031

25 Pt X & 5,663 12,710 6,121 6,589

XA S T B (A) BEN) | &)

FERMK SRHET 337 792 386 406
FERMK FE SR HT 393 892 412 480
FEHX IEE 378 821 397 424
FERIMK = ARHRHET 400 855 433 422
FERHX I ET 359 823 396 427
FERHX HISET 802 1,570 727 843
ERMR = AR IEET 1 7 4 3
FERIMK SEHT 502 957 495 462
FERHX = BHET 645 1,241 615 626
FHBX = iRET 871 1,759 892 867
FHBX = B AHET 360 725 374 351
R AFThE 7 16 8 8
FHBK =HERH 22 60 35 25
FHBK =BT /IR 66 183 93 90
FHBX =10k ) 317 716 345 371
FHBK =R/ HHET 77 181 84 97




FERHX ELRHE 182 365 185 180
FERHX FEERT 262 519 253 266
FERHX Z< T 497 1,094 563 531
FERMX =5HT 89 217 89 128
FERHX K LLIET 425 1,022 476 546
ERMXE 6,992 14,815 7,262 7,553

H#h X £ e HE B (AN) BHEN) | XN
KR KF 1,606 4,184 2,028 2,156
KX E 1,606 4,184 2,028 2,156

H#h X £ e HE B (AN) BN | XN
RiE#X TR 2,223 4,577 2,159 2,418
RiE#X KEmsh 1,247 2,955 1,526 1,429
RiE#X d5iR 323 869 443 426
RiE#X INEWER 1,086 2,632 1,283 1,349
RiE#X EHEfMA—TH 0 0 0 0
RiE#X iZ] | et = 30 59 26 33
FiEX EEM=TH 22 56 27 29
FiE#X ii] i 1,265 2,846 1,404 1,442
FiEX REM—TA 9 21 11 10
FiEX REM=TH 87 215 102 113
FiE#X REM=TH 63 142 66 76
FiEX D 260 608 303 305
R nE 999 2,431 1,205 1,226
R XE 7,614 17,411 8,555 8,856

HiX 4 BT 4 i EH(A) BHEA) | XN
& [ i X BE 579 1,171 597 574
ERBX FtRET 271 576 307 269
=X iLIRET 439 1,005 501 504
SRMBX 4 H BT 415 911 497 414




X AL B ET 75 190 94 96
X SHT 574 1,203 625 578
X iRE 14 44 25 19
X JREET 115 297 147 150
g 4B o] =3 BA—& 1,330 3,316 1,674 1,642
MK it= SHET 456 938 480 458
MK 7R E BT 626 1,466 743 723
MK gaa 413 1,009 514 495
EMHX EEA 236 573 294 279
MK = BYET 335 835 413 422
SRMmX T RAHET 537 1,125 557 568
SRMmX f& T 175 383 177 206
SRMmX HiRE 635 1,586 807 779
SRMmX EEE 434 1,121 563 558
SRMmX (PN 1,454 3,410 1,729 1,681
SRMmX AdLEr—TAH 562 1,183 636 547
S X BAET=TH 372 909 464 445
SRtX TEEET 288 620 323 297
SRR RERE 528 1,203 627 576
S X RiRH 411 1,021 530 491
SRR = BITET 199 492 237 255
S X HaIRET 297 720 355 365
=X W&o 124 264 143 121
=X = 2,391 5,722 2,845 2,877
=X k) 482 1,004 519 485
ERBX ZHr 321 826 409 417
=X HIEET 628 1,389 711 678

SRAHLXE 15,716 36,512 18,543 17,969

Hi X 4 BT 4 w HAON) BHEA) | &)




KH X XHE AHsE 72 180 87 93
KH X K BRATET 540 1,237 603 634
KX PN 0 0 0 0
K i 3t X Kl BmsE 510 983 450 533
KX X tHH 917 2,187 1,086 1,101
KX X K#EN 1,445 3,402 1,708 1,694
KX K& FFE 134 355 168 187
KX KR A/ 433 1,006 509 497
KX KB 123 316 163 153
KX XM TaH 1,845 4,603 2,228 2,375
KF R KF bEET 61 175 87 88
KF R KA AXHHET 147 301 150 151
KH X K =H 534 1,076 579 497
KF R KR Fr/u 73 172 89 83
K ] 3t X K& BRATET 93 190 119 71
KF R XE HFEH 1,291 2,936 1,495 1,441
KRR Kl =&EHET 95 151 60 91
KRR K@l =LHEr 99 213 109 104
KRR Ki BIET 280 644 303 341
KR 3 X KR m# 1,264 2,999 1,482 1,517
KRR Xl HERE 273 603 273 330
K R 3t (X XE BE 1,526 3,637 1,803 1,834
KR X KEE Kk 239 440 193 247
KX &t 11,994 21,806 13,744 14,062
HiX 4 BT 4 i EH(A) BHEA) | XN
R L 308 760 362 398
FAM X n& 233 612 292 320
FAM X &F 1,215 2,943 1,480 1,463
R X ¥ iR 397 975 472 503




A g 24 244 713 348 365
A RiA 205 519 259 260
FHM XA 2,602 6,522 3,213 3,309

XA T4 i BN BN | &N
TR BF 819 2,054 1,058 996
TR LES 593 1,584 800 784
TR ik 37 1,280 3,221 1,596 1,625
TR RIR 916 2,395 1,205 1,190
TR AR 2,512 6,121 3,037 3,084
TR B4 ELEE 12 12 12 0
ZEBX BA 181 324 186 138
FRHME iR 257 701 340 361
BRHX & 6,570 16,412 8,234 8,178

XA S i B (A) BEN) | &)
RN X i/ 110 308 155 153
RN X NHER 234 513 223 290
PR X RHESF 138 354 169 185
PR X NARE 84 242 120 122
R X NE=# 275 757 361 396
R X & 841 2,174 1,028 1,146

#h X £ BT 4 HH B (A) BHEA) | )
irpr-po1 FEHER 33 98 46 52
Db 078 [ich pask 81 231 108 123
Db 078 Lichipaly 61 205 85 120
P X EHAR 125 391 193 198
P X FEHAE 108 354 176 178
P X EHAN 24 87 41 46
Db 078 TR T 159 272 117 155
iipi::puicd =S Fih: WA 2 49 160 75 85




[ipi: b1 AR 37 133 58 75
X A 677 1,931 899 1,032

X £ e HE B (A BHEA) | &)
[ X HEH 169 455 223 232
IR X R #H 503 1,203 626 577
IR X [icpz i) 536 1,326 699 627
IR X g 2,195 5118 2,506 2,612
IR X R PaHy 802 2,097 1,024 1,073
IR X [R ERHET 1,689 4,085 2,026 2,059
IR X [RETHR—TH 140 377 191 186
[RibX RETHh=TH 200 507 264 243
R X RETHR=TH 379 942 443 499
R X —F 373 822 393 429
[RibX R —&# 31 60 29 31
[RibX B2 491 1,213 617 596
[RibX R FRETHT 622 1,684 823 861
R X &t 8,130 19,889 9,864 10,025

#h X £ BT 4 HH B (A) BHEA) | )
FRBR BEE 740 1,884 963 921
BRI FH 532 1,466 704 762
FEHMX Fia 563 1,183 621 562
FRBR Al 587 1,542 776 766
FEMXK ik 54 0 0 0 0
FEMXE 2,422 6,075 3,064 3,011

HiX 4 BT 4 i EH(A) BHEA) | XN
FHX FH 39 81 37 44
FHX FH AXk 169 413 217 196
FHX FH Lt5 95 233 113 120
FH#X FH X 78 186 91 95




FH#fX FH XKkt 49 138 74 64
FHMX FH 2fE 47 108 49 59
FHMX FH X$E 232 511 249 262
FHfX FE R 119 283 135 148
FH#X FH /MLUMA 75 159 84 75
FHMX FH O®F 46 101 45 56
FH#X FH M5 98 204 91 113
FH#X FEA —& 100 240 118 122
FH#X FH %H 34 61 34 27
FH#X FH XM 80 195 104 91
FHIX FH Bt 63 147 77 70
FHIX FH TF 61 171 84 87
FHM#X FH #tl 27 61 30 31
FHIX FH kX 59 113 56 57

F HiX & 1,471 3,405 1,688 1,717




